Приложение 4

Решить неравенство: arccos2 x – 3 arccos x + 2 
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Решение: 
Произведем замену: arccos x =t, t 
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t2 – 3t + 2 
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(t-1)(t-2)
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Учитывая условие t 
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, получаем 
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 EMBED Equation.3  [image: image7.wmf]ê

ë

é

£

£

£

£

;

2

,

1

0

p

t

t

 
[image: image8.wmf]ê

ë

é

£

£

£

£

;

arccos

2

,

1

arccos

0

p

x

x

 
[image: image9.wmf]ê

ë

é

£

£

£

£

;

2

cos

cos

,

0

cos

1

cos

x

x

p

 
[image: image10.wmf]ê

ë

é

£

£

-

£

£

.

2

cos

1

,

1

1

cos

x

x


Ответ: 
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